
Height Weight Temperature

Ht (in) x 2.54=Ht (cm) Wt (lb) ÷ 2.2=Wt (kg) (T (F)-32) * 5 ÷ 9=T (C)

60 in = 152.4 cm 100 lb = 45.5 kg 105.0 F = 40.6 C

61 in = 154.9 cm 105 lb = 47.7 kg 104.5 F = 40.3 C

62 in = 157.5 cm 110 lb = 50.0 kg 104.0 F = 40.0 C

63 in = 160.0 cm 115 lb = 52.3 kg 103.5 F = 39.7 C

64 in = 162.6 cm 120 lb = 54.5 kg 103.0 F = 39.4 C

65 in = 165.1 cm 125 lb = 56.8 kg 102.5 F = 39.2 C

66 in = 167.6 cm 130 lb = 59.1 kg 102.0 F = 38.9 C

67 in = 170.2 cm 135 lb = 61.4 kg 101.5 F = 38.6 C

68 in = 172.7 cm 140 lb = 63.6 kg 101.0 F = 38.3 C

69 in = 175.3 cm 145 lb = 65.9 kg 100.5 F = 38.1 C

70 in = 177.8 cm 150 lb = 68.2 kg 100.0 F = 37.8 C

71 in = 180.3 cm 155 lb = 70.5 kg 99.5 F = 37.5 C

72 in = 182.9 cm 160 lb = 72.7 kg 99.0 F = 37.2 C

73 in = 185.4 cm 165 lb = 75.0 kg 98.5 F = 36.9 C

74 in = 188.00 cm 170 lb = 77.3 kg 98.0 F = 36.7 C

75 in = 190.5 cm 175 lb = 79.5 kg 97.5 F = 36.4 C

*Nomogram for determining Body Surface of Adults from the formula of Du Bois and Du Bois, Arch. Intern. Med., 17, 863 (1916)

*Nomogram for determining Body Surface of Children from the formula of Du Bois and Du Bois, Arch. intern. Med., 17, 863 (1916)


